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ψ(x) = ψ(x1, x2, · · · , xN).
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Ĥs = Ĥ : �#�\�������	�-�����'� �������	�-2;/ �6.�����/0��������� ��,'
��	�
�'�����'�-2�9 c : 3��;�"(#�



�

���a�
��

ψn
���a(������
� ��.'�	(#��/ 2 ���a�
��
'��2 ��
'�	���'��
�2;��
'�����	����/8, ���a�	$��'�����	
���/8,

�	�	(#�'���
/8,=4@,'����$����6
��	����2 �a�

������a�-2 ���:�������	�-2;/
���
�
ΨN

2 �HG��'�+.�
'�"!)���a�	�
�'�
b
� �
�<!#�:
���!.�

ΨN(x, a, t) =
∑

n

Cn(a, t)ψn(x),
9 � :

.�
��10'�-2
Cn(a, t)

784@,'����$��������
��

!)�����a�/0��	���
��$\�
�'�SFF�'���+��
'�"!)/ ���

'�-2 ����� 3
5>,����
b

F̂
�����
b^�'�����
�	��
�/0�J�6.'��
��a�	��
y�����
�
�
�	���
���
�a,32 NF��� ���a�	(>2 !.�a�-2 ���J�	�D7

(#�10����'�\!�(�� !.�	���'��� �������	�-2;/&3O? ��* ()�	���'�#.�
��	�
��()�
2 �����	�'�	���	��� 2 �D,��	�������y�
��
'�"!)����� 
'����,�(#b��a�a�R�
�	(#bKF ��*�� 0����"()�D����2 ��
'������� <��	��� ���a�	(>2 !.�a�-2 ��� �	��(#�-7
0�����/ � �<�IG6!)/0�D2 ��2 ���'� �

'�-2 ����� !.�a���
� ���
/0
��IGF�����'�-2

F =
< ΨN |F̂ |ΨN >

< ΨN |ΨN >
=

∑

n,m
C∗nCm < ψn|F̂ |ψm >

∑

n
C∗nCn

.
9�� :

� ���
2 �����a�	��(#b �
/0
��IGF��������9�� : �.���
�	��
�/0�X
��	�	��� < ΨN |ΨN >
�.�'�:���	�
�����'� �
�

�

'�-2 �����y�-.'�������	(#b
��,��'��
�2;��
'���
���F�	�	(#�'���	���/4@,'����$����+�'� ���	�
�����'� �
�F�

'�-2 �D7
��� 3 = ���a�a�
�����
�10'���������
4&���-������2;/ ��2 ���-2 !#��(�� �'��� ��!)�'��� �������	�-2 ���y�;�X�
�
�	(#bKF ���1�����	����,3.��'�����
bK2 �
��
�������� <��	���+�������	�-2;/
���
��
�����,32 NF�-,+���a�a�
�����
�10'�D7
������� �	�����
2 �	(#b�3�5@�K<��	��2 , ���
2 �'���
�S,���!)��2 �:,���
'�"!)���'�
b=.'�	(�,30'�����'�
�@�
/0
��IGF�D7
���'�/9�� : .'� <��	��2 ,\�	�����
2 �	(>2E�

F =
< ΨN |F̂ |ΨN >

< ΨN |ΨN >
=

∑

n,m
C∗nCm < ψn|F̂ |ψm >

∑

n
C∗nCn

.
9 � :

�&�!.�
��	�'�
����� .�
�������2 ��
'���������'�����
�	��
'���K���a�	(>2 !.�a�-2 �����	��(#�10�����/ 2;/ ����2 �D7

����-2 �'�J2;*��'���	�����'�
�F��� �-���H0'�����'��� ��(#�1FFb ��
'�"!)�'���C.'�+�

'�-2 �����D����2 ��
'������� 3
_ �	����2 �
��
�������2�� �'�S.'����
'�"!)���
�	�����'�+����2 ��
����-2 ���D�	��(#�10����'���D���a(������
� �R�	��(#�-7
0������

F ���a�	( =
˜< Ψ|F̂ |Ψ >

< Ψ|Ψ >
=

∑

n,m

˜< Cn|Cm > < Φn|F̂ |Φm >

∑

n
< Cn|Cn >

,
9 � :

* !#�

˜< Cn|Cm > =
1

T

T
∫

0

< Cn|Cm > dt

�����'�	��
�����(D,���
'�"!)�'�������
T
2 ��(@.'� ��
��	�
�'�����12 � �

'�-2 ���'�-2 
����-
'�SF ����������� 7

2 ��
��'�	��(#b
�'��*��K2 �	��
'�������6.��10'��������*�� .�
��'�
��
����#�'���	��(#���Q.'�K��
��	�
�'�����12 �:2 � 7
(�����,�(���
���/ 2;���

'�-2 �����
2;��9 ���A.�
���2 ��
y���

'�-2 ���'�-2 ���	�
�
��!)�'��*�� .�
'�
�
��*"� : 3



|

= �����	�'�	���	��� ���a�a�
�����
�10'��������� 4&���-�������Y���	� � � ��()�	�����10'��������� 4&���-�������
.�
�������2 �a���
� � �����K.��-!#�����'�+��
'�"!)���-,�.'� �

'�-2 ����� �-���H0'������� ��� ��
'�"!)����2;� .'�
�	�����
2 �	(��#2��'�-3 ��3

< Cn|Cm > = ˜< Cn|Cm >.
= �	�"!#�-2 � 
��	����2 �
�

'�����'� 
������(����� !��� �� �� ���� �

ρm,n =
< Cm|Cn >
∑

n
< Cn|Cn >

,
9@��d :

�	��* !.�J���a�	(>2 !.�a�-2 �
�&�-���S0'�����'�:�	��(#�10�����/
F
�6.�
'�"!#��(#�'�
� �����:�
/0
��IGF�������

F ���a�	( =
∑

n,m

ρn,mFm,n =
∑

n

(ρ̃ · F̃ )n,n = Sp(ρ̂F̂ ),

* !#�
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Â
7 2 �a�

���$����+�6.'��
��a�	��
\�	��(#�10�����/

A
3

=�.�
'�"!)�����	�a(��������+�����-������/8,�4@,'����$����
ψn
�6.'��
��a�	��


ρ̂
�6.�
'�"!#��(������
� �+���	� 7

��2;�\2 �a�

��10���/ 2;��<�(��-2 ���'�a�
2;�y�

ρn,m =

∫

ψ∗n(x)ρ̂ψm(x)dx.

�P��*����'.'���������a�
b1� 0'�	�F���a�	(>2 !.�a�-2 �
�0�-���H0'�����'�0(>2 �
���/4&���-�10'�����������	��(#�10�����/
�'�@���	�
�����'�F�
�6�
/4�
��
�� .�
'�"!)���a�	�a(��������\2;�a��
���$�/�.�(��
�
�'�����
�y�'��3 ��3'�'�>���	�
�����'�
�
���
/4�
��
��6�����-������/8,M4@,'����$����

ψn
3�.!0'���
�<!)�'� �10'�	�

Sp(ρ̂) =
∑

n

ρn,n =

∑

n
< Cn|Cn >

∑

l

< Cl|Cl >
= 1.

������#���	 �(��	�� #��
	�	 �(�
������� 
������(����� ! �� �� �� ���� �

5^
'��!)�14!4^��
'����$���
�,��-2 .'� �

'�-2 ����� �
/0
��IGF�����'�;9@��d : � ,30'�	�-2 .�
���<��	��2,'
��	�
�'�����'� P 
'�"!)����*���
��Q9@� : ����� ���
�	��
'��*����"(��"!�,����

i~
∂Cn

∂t
=
∑

m

Hs,n,mCm

�
∂ρm,n

∂t
=

1
∑

l

< Cl|Cl >
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Ĥ
���6.�
'�"!#��(�� 7

2 NF�-,6�������	�-�����'�4�������	�-2;/ ���
N
0��	���
��$6�>�
��� �-2 �

V
3
=Y�	(#�'���a,32 4@,'����$��12

Ψ



�cq

�������	�-2;/�.�
�� ,30'���	�0�"()�a�
��*��^�a���	��2 ��!#�������
�
���J� ����
�,-GJ�A2 N ���J��
'�"!#���62 �HG��'�
.�
'�"!)���a�	�
�'�
b�� �
�<!#���

Ψ =
∑

n

CnΦn.

= ���a�a�
�����
��0'����������4&���-����� .'�����a,�(#��
�,����
� ����0'�	�K��2 ������2 �����	�
�
3 5@�����a,�()�a� 
��	�
�'�����A.�
��'��
��'���\�	��
'�-���
�'�����
�

< Cn|Cn > =

{

Γ−1(E,∆E)
.�
��

E < En < E +∆E;
0

�J�����a��(#b
��/8,\�"(�,30���� , 3 9@� 	 :
c�3 5@�����a,�()�a� �"(�,30��	����/8,�4P���

< Cn|Cm > = 0
.�
��

n 6= m.
9@��� :

O �	�
�;.'�����a,�()�a� ,��
�	��
6G6!.�a�����80'�	� �������	�-������� �������	�-2;/
� ���H,���!���NF�'��� � � ��� 7
���	�-�����������a�a�
�����
�10���������*��F
��	�
�'���	����������2 �HG��'�F
��	����2 �a�

������a�
b:���	�
��	 �  ���	��
��	 �(� ���
	)3�? ���	����,3.��'�����
bJ�a�	���-,��������	�-�������1�������
�-2 / �����-/0���a���
� ��2;����
'�����H7
�'�����10'��������2 �	�����
2 �	(��-243
�\�a�

���$��Q.�(��
�
�'�����
� 2;����
'�����	�'�����10'��������*��\�	�����
2 �	(��R� <��'��
�*����
�10'��������2

.�
'�"!)���a�	�a(��������������
b
ρn,m = |Cn|2 · δn,m,

9@�3� :
* !#�

|CN |2 ≡ < Cn|Cn > =

{

Γ−1(E,∆E)
.�
��

E < En < E +∆E;
0

�J�����a��(#b
��/8,\�"(�,30���� , 3
5@�������	(#b
��, F .�,'
X2 �a�

���$�/�.�(��
�
�'�����
� 
��	�	�����"!)������$'���)�	� � �"(��"!#�����a�	��(#b
�'� �
Γ

��	�
��� 0����"(�,��������	�-�������K�������	�-2;/
�6<��'��
�*����K���
�	��
�/8,�(�� G��'�F�=.�
'�"!#��()�H,

E�
E +∆E

3
Γ(E,∆E) =

∑

E<En<E+∆E

1.
9@��� :

5^
��
∆E ¿ E

2 �HG��'� ���A.������a�
b
Γ(E,∆E) = Ω(E)∆E,

* !#�
Ω(E)

7 .�(��
�
�'������b �����	�'�	���
/8, �������	�-������� �Q<��'��
�*��'���
E
3 ?O�a�'�-b 2 � GC7

!�,�2;����
'�����	�'�����10'��������2 �	�����
2 �	(��-2 ���	��
�2 ��!)�����
2;�������D�a�	������GF���)���	���D�
��()�	�����10'���������+���a�a�
�����
�10'��������� 4&���-�������

S(E, V,N) = k ln Γ(E,∆E, V,N),

* !#�
S
7 <��'�

'�6.������������	�-2;/
���

k
7 .'�����	�-��������� �Y�	(#b
$�2 �	���'3



�/�

B����� ��(�(&�	����(�(+���������
������

5^
�� �
�	��!#� � 
��	����2 �
�

'�����'� ���	�'�����10'��������*�� �	�����
2 �	(�� � ��()�	�����10'���������
���a�a�
�����
�10'��������� 4&���-�����^2;/ .�
��	�'�
�10'������� �'�>�
��
��AN6��(#����b:�'�S.'����
'�"!)���
�	�����'�
� ��()�	�����10'��������� 2 �D,��	��������� ��
'��2 ���"(�,30���� �
�	�"!#��������4@,'����$���� 
��	�L.�
'�"!#��(��D7
�������-.'�K<��	��2 , ���L.'�	(#ba�������	����/0� .'��!1,���!�.�
���2 ������2 � �F�����	�'�	���	���1�����a�
�����
� 7
0'��������� 4&���-�������.���1������(>2 0'�����'�-2 �	��*��+��
����
����(#b
�'��*����
�����	�-���	��(#b
���
����� 0'�	�
���'�	��*�
���
'�����	���'�;.'�J4P�������	��2 ,�.�
'�����

��	�����
�a,

d3npd3N/h3N
!#�	(1G��'� ��/4�
b

���
2 ���'���'���",�2 2;��
'�����	���'�-2�.'�D�
���-2 �������	�-�������#2 �������	�-2;/&3 ?Y(��"!#�����a�	��(#b
�'� �
�����	�'�	���
/0�:�<�	�'�����10'���������:�	�����
2 �	(#b0� <��'��
�*����
�10'��������2M.�
'�"!)���a�	�a(��������&�6.�
'�D7
!#��(������
� �\2 �a�

���$'����.�(��
�
�'�����
�

ρn,m = δn,m
1

Z
e−βEn,

9@�3� :
* !#�

β = 1/kT
3 �>(#���J�6.'��
��a�	��
��'����4^��
�2 �

ρ̂ =
1

Z
e−βĤ .
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∑
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g{nα}e−E{nα}/kT ,
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εαnα,
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∑
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∑
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∞
∫
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[

(2s+ 1)V

N

(

2πmkT

h2

)3/2
]
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= kN ln
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N
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2πmkT
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∞
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∞
∑
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∑

nα = N

e
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α
(µ−εα)nα/kT
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∞
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∏
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∏
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8πV
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∫
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z−1e
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∞
∫
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∞
∫
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≡ 1
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1
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π

∞
∫
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U
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V
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∞
∫
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π

∞
∫
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∣

∣

∣

∣

∞
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+
8
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√
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∞
∫
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∞
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∑
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∞
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1

2

√

π

n
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√
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d

dz
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∞
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(−1)n+1 z
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f5/2(0) = 0, f5/2(1) ≈ 0, 86720,

f3/2(0) = 0, f3/2(1) ≈ 0, 765147.
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8
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√
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∞
∫
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x4dx
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3
√
π

∞
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y3/2dy

z−1ey + 1
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√
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∞
∫
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(t+ ln z)3/2dt

et + 1
=

8
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√
π

∞
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(t+ ln z)5/2etdt

(et + 1)2
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�'��*��K�-���H0'�������@4@,'����$���� .�
�������2 �a���
�J�	�60����H,

t1
�
t2
�'�6.�
'�"!#��(����-2;/8,+���P,'
��	�
�'���������

e2t − 6et + 1 = 0,

��3 ��3
et
∣

∣

1,2
= 3± 2

√
2 et1 · et2 = 1,

t1 + t2 = 0, t1 = 1, 762148, t2 = −t1.
�&��<��	��2 �����'�����	����� 2 �HG��'��,��
�	��
6G6!.�a��b1� 0'�	�\�����'���
�'��� �
��()�-! �\���'�	��*�
���(
!.�-!�,�� �
�	()�	�����K�	�	(#���-� ���S0���()� ���
��

!)�����a�-3�� ����(��SG���2

(t+ ln z)5/2
�F���	�S.'���-7

�'����
���!D�	�	(#���-�+�	�60����
t = 0

�

(t+ ln z)5/2 = (ln z)5/2 +
5

2
(ln z)3/2t+

15

8
(ln z)1/2t2 +

5

16
(ln z)−1/2t3−

− 5

128
(ln z)−3/2t4 + · · · .

_���* !.�

f5/2(z) =
8

15
√
π

∞
∫

− ln z

φ(t){(ln z)5/2 + 5

2
(ln z)3/2t+

15

8
(ln z)1/2t2+

+
5

16
(ln z)−1/2t3 − 5

128
(ln z)−3/2t4 + · · · }dt.

� 0'�	�-2���0'�	�
∞
∫

− ln z

φ(t)tndt =

∞
∫

−∞

φ(t)tndt−
− ln z
∫

−∞

φ(t)tndt.

5@�������	(#b
��,
ln z >> 1

�
φ(t)

<��<�L.'���'����$�����(#b
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���(X�����
b 2 ��()���D�	��(#�10������

0(e− ln z)
�

� .'��
��
/0�����'�	��*�
���(��
�
�	�-���H0���2�0'��
'���
In
�

∞
∫

−∞

φ(t)tndt ≡ In.
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= <��
��2 �"(�,30��a�
f5/2(z) =

8

15
√
π
{(ln z)5/2I0 +

5

2
(ln z)3/2I1 +

15

8
(ln z)1/2I2+

+
5

16
(ln z)−1/2I3 −

5

128
(ln z)−3/2I4 + · · · }.

�>�P�6.�
'�"!#��(��������
In
�"(��"!�,�������0'�	�/.�
��\�'�S0'���
��/8,

n = 2m+ 1
�

I2m+1 = 0,

.�
��
n = 0

�
I0 = 1

�#�C.�
���0'���
��/8,
n = 2m

�

I2m = 2

∞
∫

0

t2met

(et + 1)2
dt = − 2t2m

et + 1

∣

∣

∣

∣

∞

0

+ 4m

∞
∫

0

t2m−1

et + 1
dt =

= 4m

∞
∫

0

t2m−1

et + 1
dt,

�'�
∞
∫

0

t2m−1

et + 1
dt = (2m− 1)!(1− 21−2m)ζ(2m),

* !#�
ζ(2m)

7 !������a�H7 4@,'����$����\�;��2 �	��� 9 %&����� �43 � O 2`!#�P� 3 � � � F � 3�? .'��$�����(#bI7
��/4� 4@,'����$���� 3 � 3 � �&��,'�����y�3������3#?@3���� : �

ζ(2) =
π2

6
, ζ(4) =

π4

90
, ζ(6) =

π6

945
.

5@�K<��	��2 ,

f5/2(z) ≈
8

15
√
π
{(ln z)5/2 + 5π2

8
(ln z)1/2 − 7π4

384
(ln z)−3/2 + · · · }, 9�� 	 :

f3/2(z) ≈
4

3
√
π
{(ln z)3/2 + π2

8
(ln z)−1/2 +

7π4

1920
(ln z)−5/2 + · · · }. 9���� :
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T = 300K

�	�S.�(�������� !�(#�����J�	�	(#��/ !#�E� 
'����(�� !�(��Q<�(����-7
�

'�����D
��	�
���

λ = 4, 303 · 10−7 ��2 � �
�
�'�6F �����'� λ3/v , 2 ���a��(�(����@.'��
���!)����
/0� ��0�� ��(#�K�
�	(����������A.�
���2 ��
y��,K��(>2@2;�������
1, 44 · 104 ��2 �"!)� 7 6, 77 · 103 �<���H7�

�����7

2, 00 · 104 �>.'�K<��	��2 ,�2;/ ��2 ���-2 !#��(��K�P�
�	(#bKFF��2;� z >> 1
3.? ��* ()�	���'�

9���� : ��9���� : �C<��	��2 �"(�,30��a�
λ3

v
≈ 8

3
√
π
(ln z)3/2{1 + π2

8
(ln z)−2 +

7π4

1920
(ln z)−4 + · · · }. 9���� :
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z = exp(µ/kT ) : �1.'�	(�,30��a�-2 �
/0
��IGF�����'�&!�(�� µ �
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~2

2m

(

3π2

v
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b=,���2;�10'��������*�� .'�
�	����$�����()�
µ = kT ln z

3)? ��* ()�	���'�
9���� :

1

µ
=

1

Ef

{

1 +
π2

8

(

kT

µ

)2

+
7π4

1920

(

kT

µ

)4

+ · · ·
}2/3

=

=
1

Ef

{

1 +
π2

12

(

kT

µ

)2

+
π4

1440

(

kT

µ

)4

+ · · ·
}

.

5^
���2 �����'�\2 ���	��!D�'�	��
��	$����y�>.'�	(�,30���2
1

µ
=

1

Ef

{

1 +
π2

12

(

kT

Ef

)2

+
11π4

1440

(

kT

Ef

)4

+ · · ·
}

.

.@�
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µ = Ef

{

1− π2

12

(

kT

Ef

)2

− π4

144

(

kT

Ef

)4

+ · · ·
}

=

= Ef

{

1− π2

12

(

T

Tf

)2

− π4

144

(

T

Tf

)4

+ · · ·
}

,

* !#�
Tf = Ef/k
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��
T <

Tf
�	,-!�,�� �",3N �����
�	������/ �����	�'�	���
/4� <S4!4@���'��/*��<�(����'�

'������/0� *"�����	�"! � � ���D7

�-� .'�60'�
� ���	� .�
�� �a�����	(>2 �
�'��2 ��,-(��6�	�-2B.'��
��a�a,'
�/&3 _ �	�����X*"���J�����-/0���a���
� �
�
/0
'�HG6!#������/ 2430_��-2B.'��
��a�a,'
�� � ��
�2;� , ���a�

���� 
��	�
���

37 · 103K �42 �"!)� 7
82 · 103K � ����
'����
���� ���	(��
�a��7

64 · 103K 3 O �
� �	�-2B.'��
��a�a,'
�/ �-���H0��'�	��(#b
�'��
/ F � �	�-2B.'��
��a�a,'
 �6.�/4���X� .�()�	�a(�������� 2 ���a��(�(����1�R.'�K<��	��2 , 2 �HG��'�X,��
�	��
-7
G6!.�a�
b1� 0'�	� <�(����'�

'������/0� *"���>�F2 ������(�()�H, �
����* !.�P�
/0
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Cv
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=
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=
π2Nk
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T > TD

9 ��243 ��� GF� : ���	�\�	�S.�(�� � 2 �������
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������a��(�(#�10'��������� 
'�SF � �
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����� �K���	(������	�����#2;� �a�	��2 ���1�`
��	�
���

Cv

'�SF

= 3kN
9 ���	�����R9=2 (�����*"�H7 5@�
� : ��
�
�L2 !.�

Cv
<�(

Cv

'�SF =

π2

6

T

Tf
.
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9
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'�SF � �
���y� ���a�'���	�-7
�����\�&���	(������	�����#2;�\�a�	��2 ���1�

Cv

'�SF

=
12π4kN
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T

TD
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H
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2;��(#b-�	�������	�1!�(�����!)�'��*�� <�(����'�

'������2 �HG ��� ��/4�
bJ���A.������	�y�
Ĥ(~r) =

1

2m

(

−i~∇− e

c
~A
)2

+
e~

2mc
~H · ~σ,
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��10'�-2
~H = rot ~A.

� !#����b
m
�
e
7O2;�	�����C.'�����-�\�\�a�����	(>2 �
�����\�	��(#�10������6���	
���!.� <�(����'�

'�������

c
7

������
'�����
bP���	���a��� ~A 7`�	���'�	��
-7 .'�
�	����$�����(+2 �	*����'�
�'��*�� .'�	(���� ~σ 7`�6.'��
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 �L.��-7���C<�(����'�

'�������
~ = h/2π

78.'�����	�-���������+9 ��
��	���'3
���SF �����'�^,'
��	�
�'�������@P 
'�"!)����*���
����

Ĥ(~r)ψ(~r) = Wψ(~r)
!.� � �

W (pz, n, s) = µBH(2n+ 1) + 2µBHsz +
p2z
2m

,
9���� :

* !#�
n = 0, 1, 2, 3, · · · � sz = +1/2,−1/2 74�L.����'���	�
�F�����	�'�	���	�
� 0����"(�� � µB =

e~/(2mc)
7K2 �	*��'���	��� �Y��
����

pz = hl/V 1/3 7?.�
'��!#�	(#b
��/0� �����	�'�	�����	����/0�
��2B.�,�(#b
���

l = 0,±1,±2,±3, · · · � V 7 �
��� � 2 2 ���a��(�()�'3 5^
��
V → ∞ �����	�'�	� 7
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�
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�
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Rn =

√

2mµBH(2n+ 1),
�"(��"!#�����a�	��(#b
�'� �����^��!)�'�:�����	�'�	���	�
�>�������	�-�����'�T.'�

n
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��-,���!)�'�
� �J!)�a,�2 ��
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4P�������
/0� � �
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∆S = π(R2n+1 − R2n)

�y�)���
�
�
�	���
���
�	�����'� �&0����"(�� �����	�'�	� 7
�
/8,��������	�-��������9 ���	�S.'����b �
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'�HG6!#������� :

V 2/3∆S

h2
=

4V 2/3mµBH

h2
=
V 2/3eH

hc
.

�>� 7 ���\����(#�10���� �'�������	�'�	�����	���'����0��	���
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pz, pz + dpz
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��	�
�'�

ρdpz =
V eH

h2c
dpz.

.@�
�L2 !.�
Ω = −kT

∑

sz

∑

n=0

V eH

h2c

∞
∫

−∞

ln(1 + ze−W/kT )dpz.
9���� :

�^�E,���!��+���:�����'���
�'��*��6,'
��	�
�'���������	��
�2 ��!)�����
2;�����
dΩ = −SdT − V JdH −Ndµ,
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J = − 1

V

(
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)
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, N = −
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H,T
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z = e−µ/kT ¿ 1.
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ln(1 + ze−W/kT ) ≈ ze−W/kT ,

Ω(z,H, T ) ≈ −kT V eH
h2c

z
∑

sz

∑

n=0

∞
∫

−∞

e−W/kTdpz =

= −kTV eH
h2c

z
[

eµBH/kT + e−µBH/kT
]

[ ∞
∑

n=0

e−µBH(2n+1)/kT

] ∞
∫

−∞

e−p2z/2mkTdpz,

�'�
∞
∫

−∞

e−p2z/2mkTdpz =
√
2πmkT ,

∞
∑

n=0

e−µBH(2n+1)/kT =
1

2sh(µBH/kT )
.
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Ω ≈ −V eHkT

h2c
z
√
2πmkTctg(µBH/kT ).
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N = −
(

∂Ω

∂µ

)

H,T

= − Ω

kT
,

J = − 1

V

(

∂Ω

∂H

)

µ,T

= − Ω

V H
+

Ω

V

µB

kT
/(sh(µBH/kT )ch(µBH/kT )) =

=
N

V
µB

(

kT

µBH

)[

1− 2µBH/kT

sh(2µBH/kT )

]
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]
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f(x) =
1

x

[

1− 2x

sh(2x)

]
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f ′(x) = 4
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sh91x0)
− 1

4x20

]
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ch2(2x0)− (2x0)

2ch(2x0)− 1 = 0,
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√

4x20 + 1.
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Ω = −
∑

sz

∑

n=0

V eH

h2c

∞
∫

−∞

Θ(µ−W )(µ−W )dpz,

* !#�

Θ(x) =

{

1
.�
��

x ≥ 0,
0
.�
��

x < 0.
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Ω = −V eH
h2c







√
2mµ
∫

−√2mµ

(µ− p2z/2m)dpz+

+ 2
∑

n=1

Θ(µ− 2µBHn)

√
2m(µ−2µBHn)
∫

−
√
2m(µ−2µBHn)

(µ− 2µBHn− p2z/2m)dpz









,

�'�
√
2mµ
∫

−√2mµ

(µ− p2z/2m)dpz =
2

3

(2mµ)3/2

m
.
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Ω = −2V eH

3h2cm

{

[2mµ]3/2 + 2
∞
∑

n=1

[2m(µ− 2µBHn)]
3/2Θ(µ− 2µBHn)

}

.
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Ra(x) = axa−1 + 2a
∞
∑

n=1

(x− 2n)a−1Θ(x− 2n),

* !#�
x = µ/µBH

3
_`��* !.�

Ω = −4V eH5/2

5h2cm
(2mµB)

3/2R5/2(x),

N =
4V eH3/2

5h2cm
(2m)3/2(µB)

1/2(R5/2(x))
′

x,

χ =
J

H
=

2eH1/2

h2cm
(2m)3/2(R5/2(x)−

2

5
x(R5/2(x))

′

x).
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dRa(x)

dx
= a(a− 1)[xa−2 + 2

∞
∑

n=1

(x− 2n)a−2Θ(x− 2n)]+

+2a
∞
∑

n=1

(x− 2n)a−1δ(x− 2n),
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√
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√
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√
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(
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(2π)3/2h3
e
∆
kT .

� !#����bJ,30'�	���'� � 0'�	�
∆ >> kT

�
p0 >> (2m∗kT )1/2

� .�
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���������'�S0��'�����
� 3
���
�	������/0���
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�-2;�������
b�*���(#���M<��<�L.'���'����$�����(#b
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��	�	���

CV,rot ≈ kNrot[
3

4
+

∆

kT
+ (

∆

kT
)2].
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m0
����,�(����	���F�L.����F�=.�
'�����	��� ���	�����&!)���L.'��
������

E(p) =
p2

2m0
.

=J<��	��2 �"(�,30��a�^,'
��	�
�'�����'�&�������	�-�������+*"�����62 �HG ���J��/4�
b .�
'�"!)���a�	�a(����'� �C.��H7

��
2 ���

��10'���������Q4^��
�2 ���

pV

kT
= −

∑

~p

ln(1− ze−E(p)
kT ),

N =
∑

~p

1

z−1e
E(p)
kT − 1

,

* !#�
z = e

µ
kT
�
µ
7 ,���2;�10'���������Q.'�
�	����$�����(�3

? !#��()�a�-2 .�
'�"!#��(#b
��/0��.'��
'�D,���!
V → ∞ �Y����* !.� �L.'���'�

�<��'��
�*���� �	,-!#���

�L.�(��6FF��/ 2��.�	��* !.�+2 �HG��'�M.'��
'���'�
�X�
�+�",�2 2;��
'�����	����� .'�
~p
�R���'�	��*�
���
'�����H7

���12�.'�
p
�

p

kT
= −4π

h3

∞
∫

0

p2ln(1− ze−E(p)
kT )dp− ln(1− z)

V
,

N

V
=

4π

h3

∞
∫

0

p2dp

z−1e
E(p)
kT − 1

+
1

V

1

(z−1 − 1)
.

5^
��
z → 0

.'���"(��"!)���'�Q0�(�����/ ���

'�-2 ���
� � � �
���������'�S0��'�����
�y�B.'�K<��	��2 , ��2;�
�'��(#ba���Q.�
'���'����
'��*"�a�
b�3#= ���'�	��*�
���()�H,�� !#��()�a�-2 ���
2 ����,�.'��
'�-2 ������/8,

x2 =
p2

2m0kT�+�
�
�	�-���H0���2
− 4√

π

∞
∫

0

x2ln(1− ze−x2)dx ≡ g5/2(z),
9 ��c :

4√
π

∞
∫

0

x2dx

z−1ex2 − 1
≡ g3/2(z),

9 ��� :
�	��* !.� .'�	(�,30��a�-2

p

kT
=

1

λ3
g5/2(z)−

ln(1− z)
V

,
9 � 	 :
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N

V
=

1

λ3
g3/2(z) +

1

V

1

(z−1 − 1)
,

9 ��� :
* !#�

λ = h/
√
2πm0kT

74�	�S.�(���������!�(#����� �	�	(#��/ !#�P� 
'����(�� 3 �+� G6!�, 4>,'���-7
$����#2;�

g5/2(z)
�
g3/2(z)

��2 �����
� �����a�'�-b

g3/2(z) = z
∂g5/2(z)

∂z
,

�
�
�/4@,'����$���� ���a(���2 �
� � 2 ���'�
�	�����'�D�	�	�-
��	���a�A2 NF��2;� �
����,�(��R!#�
g5/2(1)

�
g3/2(1)

���
�
�
�	���
���
�	�����'��3

g5/3(1) = 1, 342 . . . , g3/2(1) = 2, 612 . . . .

5^
��
z < 1

g5/2(z) =
∞
∑

l=1

zl

l5/2
,

g3/2(z) =
∞
∑

l=1

zl

l3/2
.

= /0
��IGF�����'�
(z−1 − 1)−1 ≡ N0

.�
'�"!)���a�	�a(������ ���
�
�62�0����"(�� 0��	���
��$D�K�������	� 7
���������P��,-(����
/ 2 ��2B.�,�(#b
����2��1.'�K<��	��2 ,

N0
V

=
N

V
− 1

λ3
g3/2(z).
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V →∞ �	,-!#���P�����a�	���a�
b
� �������'�S0-7
�'���y�����"(#�

λ3N

V
> g3/2(1).
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��$P���	����2 �a��� ,'
'���	����b>�
p = 0
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'�����
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'�����
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�'��*�� �
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�
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���
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���
�y�Y� ���
�	��
'����.�
'����� ,���!)�'� �����<!#�������	$���� �Y�	����7 O ���1F �	�������'3 � !#����b

v =
V/N

7 ,-!#��(#b
��/0�+�
��� � 243
= <��	���\�
�	()�	���
���������	�-2 ,\2 �HG��'�1
��	����2 �a�

������a�
bK���	����2 ����bF!)�a, ,\�	��
�2 � 7

!)�����
2;�10'�������-, 4P���#�����0���
�	��
�/8,F��!)���>�������	���'�@��� 0��	���
��$F�@�������	�-�������
p = 0

�
�^!)
�,'*"��� ���^�
���D,������a��(#b
��/8, 0��	���
��$ �

p 6= 0
3�� ,-!#�-2 �����-/4���a��b:�
�	()�	���
b�9 ��� :�
�	()�	���
bK2 �����<!#�������	$���� 3 .^�����
��!#��(������
� � �
�R�����a��(#b
�'���
0��	���
�

p − v − T
7

.�
'�����

��	�����
���F!)�a,�2 ��
��'���Q.'���	��
K,��'�����
bK2
λ3

v
= g3/2(1).
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Tc
�

Tc =
2π~2

mk[vg3/2(1)]2/3
.

�;�"(#��GF�^���-!.�a�
bJ�	�-2B.'��
��a�a,'
�,M<��<�L.'��
���2 ���'���
T
���	�?.�
����	�"! � ���'�
�&,'
��	�
�'�����'�

�6.�
'�"!#��(#�'����
��'�
�10'���������\�
��� � 2��

vc =
λ3

g3/2(1)
.

_ �	����2 �
��
�������2��`�
�	()�	���
bR�����<!#�������	$���� �6.�
'�"!#��(������
� � ,��"(����
���#2;�
T < Tc

�

v < vc
3

�@�	�
��/ ���	�'�
�
z
���	�
4@,'����$��12

T
�
v
� 
'�SFF��2 ,'
��	�
�'�����'�\*�
��A4&�10'������� 3

5^
����
�	(#bKF ��2����'�K�����'�S0��'��2 �-���H0'��������.'�	(#�'��*����
��� � 2 �
V >> λ3

4@,'����$����
λ3/[V (z−1− 1)]

�
��(#�10���� �
�6��,�(�� �	�	(#b
���6�62 ��(����K�
�	()�	���
�1�	�	(#���-�
z = 1

3'=
.�
'�"!#��(#b
�'��2 �"(�,30��a�

V →∞ ��2 ���-2

z =

{

1
.�
��

T < Tc,����
'����b6,'
��	�
�'�������
g3/2(z) =

λ3

v

.�
��
T > Tc.

9 ��� :
�>�P�6.�
'�"!#��(��������

N0
��9 ��� : �"(��"!�,����

N0
N

= 1− v

λ3
g3/2(z),

�
�
�L2 !.�
n0
N

=

{

1−
(

T
Tc

)3/2 .�
��
T < Tc,

0
.�
��

T > Tc.

9��	d :
�^
��	�
�'�����'�:�������	�-�������Q.'�	(�,30��a���
� �\��� 9 � 	 :

p

kT
=

{

1
λ3g5/2(z)

.�
��
T > Tc,

1
λ3g5/2(1)

.�
��
T < Tc.

9��	� :
�>(����

V −1 ln(1− z) ��9 � 	 : .�
�� V → 0

��	�	��� ��,�(>2 3 �>� 9��	� : �
�<!)�'� � 0'�	� .�
��

T < Tc
9
v < vc : !.�	�a(������'� p �'�J���	�
�����'�+�
���
��� � 2 � v 3`A&�	� ��.�
�� �����<!#���-7���	$����R* ����� �/G��<!)�������
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�
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�,'*",32 3 9F�	�a(������'�Q.�
��
<��	��2�4P�������	��2
.'��
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�'� �

p0 =
kT1

λ3
g5/2(1).
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dp0
dT

=
5

2

kg5/2(1)

λ3
=

=
5

2

kg5/2(1)

vcg3/2(1)
=

1

Tcvc

[

5

2
kTc

g5/2(1)

g3/2(1)

]

.
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∂p0
∂T

=
Q

T (v2 − v1)
,

��!#����b
Q
7 �	�S.�(�� �1.'��* (��6N6�a�-2 �
�^�������	�-2 ���y�

T
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�� 4P�������	��*�� .'��
'�D7
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v1
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v2
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g3/2(1)
,

�"(��"!#�����a�	��(#b
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Ξ =
∏

α

1− e(µ−εα)(p+1)/kT

1− e(µ−εα)/kT
.

9���� :
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�L2 !.�

nα =
1

1− e(µ−εα)(p+1)/kT
− p+ 1

1− e(µ−εα)/kT
.
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������
�������=4@(�,'�'�a,<�	$����:���a(������
� �P����
�
'��(���$��'���-7
��/0�+2 ��2 ���'�������
�	��
�/0�K!�(��

n

�����(#�10���/8,�4&���-�10'�������-,1�	��(#�10����

Fk
�F�
�6N �-2

�"(�,30��a�P��2 �������
�<!��
(F1 − F1)k1(F2 − F2)k2 · · · (Fn − Fn)kn.

?Y,�2 2 �
k1 + k2 + k3 + · · ·+ kn = k

�����-/0���a���
� �Q.'��
���!)����2 ����
�
'��(���$��'�����'��*��K2 ��2 ���'�a�'3
= 
���!#�>�"(�,30��a���1������* !.�^���a(������'� �6.�
'�"!#��(������
� �K�

'�-2 �����'��� ���	�
������2 �����
bK2

4@(�,'�'�a,<�	$��'������/8,P�
�
��(����'�������y��!�(��P���	(#�10'�����
�	�����'���+,��	
��	�'�	��
������
����� 4@(�,'�-7
�a,<�	$����\���L.'�	(#ba��,32 �
� �\�

'�-2 ������/4�:����
�
'��(���$��'������/4�F2 ��2 ���'�
/
�

(F1(t)− F1(t))k1(F2(t)− F2(t))k2 · · · (Fn(t)− Fn(t))kn.
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�	� �"(�,30��a��� 4@(�,'�'�a,<�	$��'������/0� ���a(�������� 2 ��*",��
��/4�
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�/4�=0��	���	�������-/0���A2 �
� �\�����-!)
��a�
�10���/ 2;������
�
'��(���$����#2;�y�

(F1 − F1)(F2 − F2) ≡MF1,F2,

(F − F )2 ≡ (DF )2,
���:���
�	��
�/8,\���	�'�
�	(����&���IG��'�����	��(#�10����'��� ���a(������
� �K!)���L.'��
������

(DF )2
��!�(��

��
��a�
�������
� ���'��* !.�������-/0���a�-2 ��� �D4@(�,'�'�a,<�	$��'�����V� �+�a�	� GF� � �
���'�����'�	��(#b
�����
4@(�,'�'�a,<�	$���� �V�

δF =
DF

F
.
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�����4>(�,'�'�	,��	$����R���a(������
� � �
/ 0����"(������'� ����
�
'��(���$��'������/8, 2 � 7
2 ���'�	��� ��� .'��
��a,32 �60'��
'�"!)b=7 �����-!)
��a�
�10���/8,�����
�
'��(���$���� 3
9P(��X
�����(#�10��'��*��+
'��!.� 4&���-�10'�������-,X�	��(#�10����D����� 
'�SF6�a���
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����-�'��2 ,�3
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��	�
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�
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�
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�
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�
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�
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'�-2 �����\�",3N �����
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���-!.�H0��y���'� ���
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����K�
�
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�
'��(���$��'������/8, 2 ��2 ���'�	���=.�
����
�I7
�",��
���
�
���\
��	�
�'���	��������� ���	���	�-��N ���P�

'�-2 ���'�:�",3N �����
�a,����-3

� �! ���+* � �!$)(+*+$ 	+"�
 % � 
��R*��+(���� � ��� 	���� 
 �+*��
� � � $��
�)%���� *������ 
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���!#� .�
���2 ��
'���1���<�	�F�
/ 0����"(���2 �
� �C4@(�,'�'�a,<�	$����J
�����(#�10���/8,
�	��(#�10����\�J�������	�-2 �������H,���!���N ����� �+�J�	��
�2 ��!)�����
2;�10'��������2 
��	�
�'���	������� 3
�:(�,'�'�	,<�	$����

(DL)2
(>2 �
��� �	��(#�10�����/

L
2 �HGF���X��/4�
bR�
/0
��IGF�����@0'��
'���

L2
�
L
�

(DL)2 =
(

L− L
)2

= L2 −
(

L
)2
.

� �	����2 �
�

���2�4@(�,'�'�a,<�	$���� <��'��
�*����y���
��� � 2 ���;0����"()� 0��	���
��$ 2 ��(����;.'��!)���-7
���	�-2;/
�����H,���!���N ����� ���J�	��
�2 �������a�	��3

�
3�5>,����
b , ���	�^��2 �����
� �+�������	�-2 �����6���
�	��
'���1�
��� � 2 ��0����"(�� 0��	������$M4&���-7
����
'�����	����/
���������	�-2 � .'��*�
�,-GF�����P�^�	��
�2 �����a�a� � 4&���<����
'�����	���'��� �	�-2B.'��
��a�a, 7

'���y�

V = const, N = const, T = const.



z/p

� �	����2 �
�

���2
4@(�,'�'�a,<�	$���2�<��'��
�*����
(DE)2 = E2 − (E)2,

�'�

E =
1

Z

∑

i

Eie
−βEi = − 1

Z

∂

∂β
Z,

E2 =
1

Z

∑

i

E2i e
−βEi =

1

Z

∂2

∂β2
Z =

= − 1

Z

∂

∂β

[−Z
Z

∂

∂β
Z

]

= (E)2 − ∂E

∂β
.

.@�
�L2 !.�
(DE)2 = −∂E

∂β
= kT 2

∂E

∂T
= kT 2CV .

?Y(��"!#�����a�	��(#b
�'� ��� �"(�,30��a���
� : �<!#�-��(#b
�'��*���*"�����

E = U =
ν

2
kNT, CV =

ν

2
kN,

(DE)2 =
ν

2
Nk2T 2.

� !#����b
ν
780����"(������	�S.'���'�������	�
�
��!)/ ,�2 �	(�����,�(#/ *"�����'3

.@�
�'�����'�	��(#b
����� 4@(�,'�'�a,<�	$����

δE =
DE

U
=

√

2

νN
�'�&���	�
�����'�J�
� �	�-2B.'��
��a�a,'
�/ �Q.�
��

N →∞ ���

'�-2;�'�
� ������,-(>2 �
� : �
� � 

!#��*��:�	��()� .�
��������-���-,��	�-2B.'��
��a�a,'
��H,K�^!#�����a���
������2�.�
��'�	(#� G �������

CV =
12π4Nk

5θ3D
T 3, U =

3π4Nk

5θ3D
T 4,

(DE)2 =
12π4Nk2

5θ3D
T 5,

��!#����b
θD
7Y�	�-2B.'��
��a�a,'
��J9:������� 3

.@�
�'�����'�	��(#b
����� 4@(�,'�'�a,<�	$����

δE =

√

20

3

(

θD
T

)3/2
1

π2
√
N
.
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5^
��J�60'����b&�����-���-, �	�-2B.'��
��a�a,'
��H,
δE
2 �HG ���:���a�a�
b&���
2 ���
�'���F!�(��K2 �	��
'������� 7

.��10'��������*��0�
��
����-$��4�
� � 

!#��*�� �	��()�'3 �&�A.�
���2 ��
y�L.�
��
T = 10−2K

�
θD = 200K!�(��D�
��
����-$����:(#���'������/ 2;�D
�����2 ��
��
2;� ∼ 10−1

2 2�9
N ≈ 5 · 1016 : δE ≈ 2%

3
O �	�6,'�����-/0���a���6���F�'���
�S,���!)��2 �����
b ,30 � �a�F��,�(����
/8,1���	(������	�����1��
������a��(�(#�10'�D7
��������
'�SF � �
��� 3
c�3 5>,����
b�,����	�F��2 ������� �X�������	�-2 ���)� ���
�	��
'��� .'��!�!#��
6G������A2 �
� � .'�����	�-���-7

��/ 2;�+�
�-2R.'��
��a�	,'
������
��� � 2 � ,���2;�10'����������.'�
�	����$�����(��
V = const, µ = const, T = const.

� �	����2 �
�

���2
4@(�,'�'�a,<�	$���2�<��'��
�*����+�Q0����"()� 0��	������$y�
(DE)2 = E2 − (E)2, (DN)2 = N 2 − (N)2.

_���* !.�

E =
1

Ξ

∑

i

Eie
αNi−βEi = − 1

|Xi
∂

∂β
Ξ,

N =
1

Ξ

∑

i

Nie
αNi−βEi =

1

|Xi
∂

∂α
Ξ,

E2 =
1

Ξ

∑

i

E2i e
αNi−βEi =

1

Ξ

∂2

∂β2
Ξ =

= (E)2 − ∂E

∂β
.

N 2 =
1

Ξ

∑

i

N 2
i e

αNi−βEi =
1

Ξ

∂2

∂α2
Ξ =

= (N)2 − ∂N

∂α
.

� !#����b .�
��������	�
β =

1

kT
, α =

µ

kT
.

.@�
�L2 !.�

(DE)2 = kT 2
∂E

∂T
, δE =

√

kT 2 ∂E∂T

E
,

(DN)2 = kT
∂N

∂µ
, δN =

√

kT ∂N
∂µ

N
.



zYs

9P(����<!#�-��(#b
�'��*�� ��!)�'���a�	��2;�'��*�����()�	�����10'��������*�� * �������

N =
(2πmkT )3/2

h3
V e

µ
kT ,

E =
3

2
NkT.

?Y(��"!#�����a�	��(#b
�'� �

(DN)2 = N, δN =
1√
N
;

(DE)2 = (
5

2
kT − µ)E, δE =

√

5
3 −

2µ
3kT√

N
.

�>�+.'�	(�,30'�����'��*��F�
/0
��IGF�������1�
�<!)�'� � 0'�	�F���'�F��2 ����� ��2;/0�"( �	�	(#b
���6� �"(�,30��a�
5

2
kT > µ,

��3 ��3 .�
����	�"!#������/4���
/0
��IGF�������R!�(�� �<!#�-��(#b
�'��*��\��()�	�����10'��������*���*"�����1��2 �S2 �
��2;/0�"(��	�	(#b
���/.�
��\�
/ .'�	(#�'�������Q<��	��*�� �'��
��	�	�������
���'3

�'3 5>,����
b�,����	�F��2 ������� �X�������	�-2 ���)� ���
�	��
'��� .'��!�!#��
6G������A2 �
� � .'�����	�-���-7
��/ 2;�+�
�-2R.'��
��a�	,'
�����0����"(��?0��	���
��$\� !.�	�a(������'���

T = const, N = const, p = const.

� �	����2 �
�

���2#4@(�,'�'�a,<�	$��12�<��'��
�*��������
��� � 2 ���a���	����2 �a�-2 ��*��'<��
��2;� 0��	���
��$��H7
2;� 3
? �a�a�
�������10'�����������",�2 2 �

Z(T, p) +

∞
∫

0

∑

i

e−γV−βEi(V ), γ =
p

kT
, β =

1

kT
.

?O
'�"!)���'�Q<��'��
�*���������
'�"!)�����+�
��� � 2 
��	�
��/
�
U ≡ E = − ∂

∂β
(lnZ)γ, V = − ∂

∂γ
(lnZ)β.

9 ���L.'��
������ <��'��
�*����&�&�
��� � 2 �42 ��*",��4��/4�
b �
/ 0����"(�����/�.'� 
������
��
��	���'���&�
/ F �
2 ���	��!)�����

(DE)2 = kTCp, (DV )2 = −kT
(

∂V

∂p

)

T

.

� 0'� � 2���0'�	�
(

∂U

∂T

)

p

=
∂(U, p)

∂(T, p)

∂(T, V )

∂(T, V )
=

(

∂V

∂p

)

T

∂(U, p)

∂(T, V )
=



z/z

(

∂V

∂p

)

T

[(

∂U

∂T

)

V

(

∂p

∂V

)

T

−
(

∂U

∂V

)

T

(

∂p

∂T

)

V

]

=

=

(

∂U

∂T

)

V

−
(

∂U

∂V

)

T

∂(V, T )

∂(p, T )

∂(p, V )

∂(T, V )
= Cv +

(

∂U

∂V

)

T

(

∂V

∂T

)

p

.

��/ �-���a�-2 ���:�	��
�2 ��!)�����
2;�����y�>0'�	�
(

∂U

∂V

)

T

= p+ T

(

∂p

∂T

)

V

,

�"(��"!#�����a�	��(#b
�'� �

(DE)2 = kT 2

[

Cv −
(

∂V

∂T

)

p

(

p− T
(

∂p

∂T

)

V

)

]

.

9P(����<!#�-��(#b
�'��*���*"�����
(

∂U

∂V

)

T

= 0,
�
�
�L2 !.�

(DE)2 = kT 2Cv.

5@�	(#ba��,
����b?4^��
�2 ,�(����\!�(�� 4@(�,'�'�a,<�	$����X�
��� � 2 ����(���*���� .'�	(�,30��'�
bM4^��
�2 ,�(�,
!�(���4@(�,'�'�a,<�	$���� .�(��
�
�'�����
�

ρ = m/V
�

dρ = −m
V
2dV = −ρdV

V
,

�
�
�L2 !.�
(Dρ)2 =

ρ2

V
2 (DV )2.
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∆U1
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∆V1
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U 01
�
V 0
1

�

∆U2 = −∆U1,

∆V2 = −∆V1,
S(V1, V2, U1, U2) = S(V 0

1 , U
0
1 , V

0
2 , U

0
2 )+

+

(

∂S1
∂U1

)

0

∆U1 +

(

∂S1
∂V1

)

0

∆V1 +

(

∂S2
∂U2

)

0

∆U2 +

(

∂S2
∂V2

)

0

∆V2+

+
1

2

{(

∂2S1
∂U 21

)

0

(∆U1)
2 + 2

(

∂2S1
∂V1∂U1

)

0

∆V1∆U1 +

(

∂2S1
∂U 21

)

0

(∆U1)
2

}

+

+
1

2

{(

∂2S2
∂U 22

)

0

(∆U2)
2 + 2

(

∂2S2
∂V2∂U2

)

0

∆V2∆U2 +

(

∂2S2
∂U 22

)

0

(∆U2)
2

}

+. . . .

� 0'� � 2���0'�	�
(

∂S1
∂V1

)

0

=
p1
T1
,

(

∂S2
∂V2

)

0

=
p2
T2
,



� p

(

∂S1
∂U1

)

0

=
1

T1
,

(

∂S2
∂U2

)

0

=
1

T2
.
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T1 = T2 = T, p1 = p2 = p
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(

∂2Si

∂U 2i

)

0

(∆Ui) +

(

∂2Si

∂Vi∂Ui

)

0

∆Vi =

= ∆

(

∂Si

∂Ui

)

= ∆

(

1

Ti

)

,

(

∂2Si

∂V 2
i

)

0

(∆Vi) +

(

∂2Si

∂Vi∂Ui

)

0

∆Ui = ∆

(

∂Si

∂Vi

)

= ∆

(

pi
Ti

)

,

�6�a�	� G �
∆

(

1

Ti

)

∆Ui +∆

(

pi
Ti

)

∆Vi =

=
∆pi∆Vi

Ti
− ∆Ti

T 2i
(∆Ui + pi∆Vi) =

1

Ti
(∆pi∆Vi −∆Si∆Ti).

_`��* !.�
∆S ≡ S(V1, V2, U1, U2)− S(V 0

1 , U
0
1 , V

0
2 , U

0
2 ) =

=
1

2T
(∆p1∆V1 −∆S1∆T1) +

1

2T
(∆p2∆V2 −∆S2∆T2).
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∆S ≈ 1

2T
(∆p1∆V1 −∆S1∆T1).
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w(Ai) = e

1
2kT [∆p(Ai)∆V (Ai)−∆S(Ai)∆T (Ai)],
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A
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dw(A) = ρ(A)dA = ce
1
2kT [∆p(A)∆V (A)−∆S(A)∆T (A)]dA.
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∆p =

(

∂p

∂V

)

T

∆V +

(

∂p

∂T

)

V

∆T,

∆S =

(

∂S

∂V

)

T

∆V +

(

∂S

∂T

)

V

∆T,

�'�
(

∂S

∂T

)

V

=
CV

T
, CV −

�	�S.�(�� � 2;�������
b��������	�-2;/
,

(

∂S

∂V

)

T

=

(

∂p

∂T

)

V

< 0.

?Y(��"!#�����a�	��(#b
�'� �

ρ(∆V,∆T ) = ce
1
2kT [(

∂p
∂V )T (∆V )2−CV

T (∆T )2.

�>�&,��"(����
�����'��
�2;��
'���
����.'�	(�,30��a�-2��

c = 2πkT/

√

−
(

∂p

∂T

)

V

CV

T
.

.@�
�L2 !.�

(∆V )2 =

∞
∫

−∞

d∆V

∞
∫

−∞

d∆T (∆V )2ρ = −kT
(

∂V

∂p

)

T

,

(∆V )2 =

∞
∫

−∞

d∆V

∞
∫

−∞

d∆T (∆T )2ρ =
kT 2

CV
,

∆V∆T = 0.
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1

2
mv2 =

kT
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.
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mẍ = f(t)−mγẋ,
* !#�

mγ
74���K<S4!4&��$��'���'�K���a�a, ,��	�������

f(t)
74�
/0��,-G6!.�A2 N6���D����()���

m
742 �	�����

0��	���
��$�/&3 O �	� ,'
��	�
�'�����'�:�����-/4���a����� �+,'
��	�
�'�����'�-2 � �	� GF���	�����'3
� 0'�	�-2��>0'�	�

xẍ =
1

2

d2

dt2
(x2)− (ẋ)2.
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�L2 !.�J�
/4�	�����a���J,'
��	�
�'�����'�^!�(��Q<��'��
�*����Q0��	���
��$�/
�
d2

dt2

(

mx2

2

)

−m(ẋ)2 +
d

dt

(

mγx2

2

)

= xf(t),

���'�	��*�
���
'�����	���'� ���
�	��
'��*��?.'���

'�-2 ����� !.� � �1�

d

dt

(

mx2

2

)

|t0 −
t
∫

0

m(ẋ)2dt+

(

mγx2

2

)

|t0 =
t
∫

0

xf(t)dt.

� 0'�	�-2���0'�	�
1

t

t
∫

0

ẋ2(t)dt ≡< x2 >

70��
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� 0��	���
��$�/&3
5@���"(��"!)���������'�	��*�
���(

1

t

t
∫

0

x(t)f(t)dt ≡< xf >
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d

dt

(

mx2

2

)

|t0 − tm< (ẋ)2 >+

(

mγx2

2

)

|t0 = t< xf >.
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m< ẋ2 > = mẋ2 = kT.
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< xf > = xf = 0.
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�
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�
���R����
�
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��$�/
x
����� ������
'� 7

���
bK2
ẋ
.'��
��
/0�Q0�(����

d

dt

(

mx2

2

)

|t0 = 2m < xẋ > |t0

��	�	������,-(>2 3

�;�"(#� ,30'�����
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��
t = 0

0��	���
��$������H,���!)��()�	��b������H0���(�� ���
��

!)�����a�
x = 0

���	�

x2
∣

∣

∣

t

0
= x2(t)
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�
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(Dx)2 =
2kT

mγ
t,
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��a����2 �SN �������1(#���'�����Q.'���

'�-2 �����
t
3
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R
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O ���1F �	�������
mγ = 6πηR,

* !#�
η
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(Dx)2 =

kT

3πηR
t.
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∆y(t) = y(t)− y,* !#�
y
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∆x(t)∆x(t+ τ)
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ψy(τ)
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ψy(0) = (Dy)2;

ψy(−τ) = ψy(τ);

lim
τ→∞

ψy(τ) = 0.
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ψy(τ)
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∞
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t
∫

0

y(t′)dt′ = t
1

t

t
∫

0

y(t′)dt′ = ty,

�
�
�L2 !.�
t
∫

0

y(t′)dt′ −
t
∫

0

y(t′)dt′ =

t
∫

0

[y(t′)− y]dt′ =
t
∫

0

∆y(t′)dt′.
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t
∫

0

∆y(t′)dt′





2

=

t
∫

0

dt′
t
∫

0

dt′′∆y(t′)∆y(t′′).
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τ = t′′ − t′, t′ = t′,





t
∫

0

∆y(t′)dt′





2

=

t
∫

0

dt′
t−t′
∫

−t′

dτ∆y(t′)∆y(t′ + τ) =

t
∫

0

dt′
t−t′
∫

−t′

dτψy(τ).
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0 < t′ < τc
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t − τc < t′ < t
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



t
∫

0

∆y(t′)dt′





2

=

t
∫

0

dt′
∞
∫

−∞

ψy(τ)dτ = t

∞
∫

−∞

ψy(τ)dτ = 2t

∞
∫

0

ψy(τ)dτ.
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ψy(τ)
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mv̇x = −mγvx,
'�SF �����'�P��2 ����� �
�<!��
vx(t) = v0xe

−γt,
�
�
�L2 !.�

ψvx(τ) ∼ e−γτ .
� 0��'�
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ψvx(0) = v2x =
kT

m
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/0
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�
'��(���$��'�����'��� 4@,'����$����y�

ψvx(τ) =
kT

m
e−γτ .
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�2 ,�(�, O ���1F �	�������F!�(�����
'�	,'�'���
������*��F!)�
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(∆x)2 =
2kT

mγ
t.
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L
d2Q

dt2
+R

dQ

dt
+
Q

C
= 0.

�;*���
'�SF �����'���
Q(t) = e−βt[A01sinωt+ A02cosωt],

J(t) = e−βt[A01(ωcosωt− βsinωt)− A02(βcosωt+ ωsinωt)],

* !#�
β = L/2R

�
ω =

√

1
LC − β2

3
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β2LC < 1
�

Q2 = 2C(
Q2

2C
) = 2C

kT

2
, J2 =

2

L
(
LJ2

2
) =

2

L

kT

2
,
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ψJ(τ) =
kT

L
e−βt, ψQ(τ) = kTCe−βt.
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Ys(ω)
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∆y(t)
�'�a�	��0'�	�

∆y(t) =
1√
2π

∞
∫

−∞

Ys(ω)e
iωtdω.

�>�:�	�SN �����
�	�����'�����
�
∆y(t)
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∞
∫

−∞

Ys(ω)e
iωtdω =

∞
∫

−∞

Y ∗s (ω)e
−iωtdω, Y ∗s (ω) = Ys(−ω).
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∆y(t)
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s

∞
∫

−∞

∆ys(t)∆ys(t+ τ)dt = s[∆ys(t)∆y(t+ τ)] = sψy(τ),
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∞
∫

−∞

∆ys(t)∆ys(t+ τ)dt =
1

2π

∞
∫

−∞

dt

∞
∫

−∞

Ys(ω)e
iωtdω

∞
∫

−∞

Ys(ω
′)eiω

′(t+τ)dω′ =

=

∞
∫

−∞

Ys(ω)dω

∞
∫

−∞

Ys(ω
′)eiω

′τδ(ω + ω′)dω′ =

∞
∫

−∞

Ys(ω)Ys(−ω)e−ωτdω.

� 0'�	�-2���0'�	�
Ys(−ω) = Y ∗s (ω),�	��* !.�

ψy(τ) = lim
s→∞

1

s

∞
∫

−∞

| Ys(ω) |2 e−ωτdω.
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lim
s→∞

2

s
| Ys(ω) |2≡ Gy(ω)

�
��/ 0��'� �����-/0���A2 �K�L.'���'�

���(#b
�'���@.�(��
�
�'�����
bK2 4@(�,'�'�a,'��
�,32+N ���D�	��(#�10�����/
y(t)
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ψy(τ) =
1

2

∞
∫

−∞

Gy(ω)e
−iωτdω =

∞
∫

0

Gy(ω)cos(ωτ)dω.

.@��
��a�
�'�
�:���
�
�
�'�6F �����'�

Gy(ω) =
2

π

∞
∫

0

ψy(τ)cos(ωτ)dτ.
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Gy(ω) =
2

π

∞
∫

0

ψy(τ)cos(ωτ)dτ ≈
2

π

τc
∫

0

ψy(τ)cos(ωτ)dτ.
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ω ¿ 1/τc

Gy(ω) ≈
2

π
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ψy(τ)dτ,
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q(ω)
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q̇(ω)
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q̇(ω) = iωq(ω),
�
Gx(ω)

�
Gẋ(ω)
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Gẋ(ω) = ω2Gx(ω).
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ψẋ(τ) =

∞
∫

0

Gẋ(ω)cos(ωτ)dω =

∞
∫

0

ω2Gx(ω)cos(ωτ)dω =

= − d2

dτ 2

∞
∫

0

Gx(ω)cos(ωτ)dω = − d2

dt2
ψx(τ).
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∆x(t)∆ẋ(t) =

∞
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0

ωGx(ω)sin(ωτ)dω =
d

dτ
ψx(τ).
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x(t) = A(ω)e−iωt,



�3�

�J���J�
/8,���!#� .'�	(�,30��a�-2 ����*�����(��
�<!.�
y(t) = B(ω)e−iωt.

=Y��(#�10������
B(ω)/A(ω) ≡ C(ω)

�����-/0���a���
� � 4@,'����$��'�����
�
��(#�������#���������a�'���H7
���J�����L.'���'�

���(#b
��/ 2;��.�(��
�
�'�������#2;�\�I,���!)�'��*��

G0(ω)
���
/8,���!)�'��*�������*�����()�

G1(ω)
3

.@�
�	�-���H0���2 4@,'
�b	�D7 �
��
���� ,����S0'�����'��*��+�I,���!)�'��*�������*�����()�M0'��
'���
Y0s(ω)

� �
4@,'
�b	�D7 �
��
���� �
/8,���!)�'��*�������*�����()�=7

Y1s(ω)
�'�	��* !.�
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G1(ω) = lim
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ψy(τ) =

∞
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| C(ω) |2 G0(ω)cos(ωτ)dω.
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γ = R/L
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→ 0, · · ·
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∫

W (y, x|τ1 + τ2, t)g(y)dy =

∫ ∫

W (z, x|τ1, t)W (y, z|τ2, t+ τ1)g(y)dzdy.
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g(y) = g(z) +
∂g(z)

∂zi
(yi − zi) +

1
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∂2g(z)

∂zi∂zk
(yi − zi)(yk − zk) + · · ·
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g(y)
(

∂ng(y)

∂yni

)

y=z

=
∂ng(z)

∂zni
.
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∫

W (y, x|τ1 + τ2, t)g(y)dy =

∫ ∫

W (z, x|τ1, t)W (y, z|τ2, t+ τ1)[g(z)+
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+
∂g(z)

∂zi
(yi − zi) +

1

2

∂2g(z)

∂zi∂zk
(yi − zi)(yk − zk) + · · · ]dzdy
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∫

{[W (y, x|τ1+τ2, t)−W (y, x|τ1, t)]g(y)−τ2aτ2i (y, τ1+t)W (y, z|τ1, t)
∂g(z)

∂zi
+

+
1

2
τ2b

τ2
i,k(y, τ1 + t)W (y, x|τ1, t)

∂2g(z)

∂zi∂zk
+ · · · }dy = 0,
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aτ2i (y, τ1 + t) =
1

τ2

∫

(zi − yi)W (z, y|τ2, t+ τ1)dz,

bτ2i,k(y, τ1 + t) =
1

τ2

∫

(zi − yi)(zk − yk)W (z, y|τ2, t+ τ1)dz
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W (z, y|τ2, τ1 + t)dz = 1.
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τ2 → 0
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τ
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∫

{∂W (y, x|τ, t)
∂τ

g(y)− ai(y, τ)W (y, x|τ, t) ∂g
∂yi

+

+
1

2
bi,k(y, τ + t)W (y, x|τ, t)∂

2g(z)

∂zi∂zk
+ · · · }dy = 0,

* !#�
ai(y, τ + t) = lim

τ2→0
aτ2i (y, τ + t),

bi,k(y, τ + t) = lim
τ2→0

bτ2i,k(y, τ + t).

� 0'� � 2���0'�	�
∫

ai(y, τ + t)W (y, x|τ, t) ∂g
∂yi

dy =

∫

ai(y, τ + t)W (y, x|τ, t)g(y)dy′i|yi=∞yi=−∞−

−
∫

g(y)
∂[ai(y, τ + t)W (y, x|τ, t)]

∂yi
dy.
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∑

i,k

∫

bi,k(y, τ + t)W (y, x|τ, t)∂
2g(z)

∂zi∂zk
dy =

∑

i,k

∫

∂g

∂yk
[bi,k(y, τ + t)W (y, x|τ, t)]dy′i|yi=∞yi=−∞−

−
∑

i,k

∫

g(y)
∂

∂yi
[bi,k(y, τ + t)W (y, x|τ, t)]dy′i|yk=∞yk=−∞+

+
∑

i,k

∫

g(y)
∂2

∂yk∂yi
[bi,k(y, τ + t)W (y, x|τ, t)]dy =

=
∑

i,k

∫

g(y)
∂2

∂yk∂yi
[bi,k(y, τ + t)W (y, x|τ, t)]dy.
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g(y){∂W (y, x|τ, t)
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+
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[ai(y, τ + t)W (y, x|τ, t)]−

−1

2

∑

i,k

∂2

∂yk∂yi
[bi,k(y, τ + t)W (y, x|τ, t)] + · · · }dy = 0.
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∂

∂yi
[ai(y, τ + t)W (y, x|τ, t)]−
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∂2

∂yk∂yi
[bi,k(y, τ + t)W (y, x|τ, t)] = 0.
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∂2

∂yk∂yi
[bi,k(y, τ + t)f(y, t+ τ)] = 0.
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∂f(y, τ)
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i=1

∂ji
∂yi

= 0,
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∂

∂yk
[bi,k(y, τ)f(y, τ)].
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∂f(y, t+ τ)

∂τ
+ div~j = 0,
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~j = ~a(~r, τ)f(~r, tau)]− 1
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W (~r1, ~r2|τ, t) = W (| ~r1 − ~r2 |, τ).
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~a(~r) = lim
τ→0

1

τ

∫

W (|~r − ~r1|, τ)(~r − ~r1)d~r = 0
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bi,k(~r) = lim
τ→0

1

τ

∫

W (|~r − ~r1|, τ)(xi − x1i)(xk − x1k)d~r = bδi,k,
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b = lim
τ→0

1

τ

∫

W (|~r|, τ)x2d~r = const.
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/
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ν

T
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(f · ṗi)]+

+

∫

{W (~p, ~p1)f(~p1, ~r, t)(1−f(~p, ~r, t))−W (~p1, ~p)f(~p, ~r, t)(1−f(~p1, ~r, t))}d~p1,
��(#�\�J�	���'�	��
��'����4^��
�2 �

∂f

∂t
= −(~v · ∇rf)− ( ~F · ∇pf)+

+

∫

{W (~p, ~p1)f(~p1, ~r, t)(1− f(~p, ~r, t))−

−W (~p1, ~p)f(~p, ~r, t)(1− f(~p1, ~r, t))}d~p1.
9 ��c :O �	�+,'
��	�
�'�����'�������-/0���a���
� �R�����'���
�10'��������2 ,'
��	�
�'�����'�-2 �Y�	(#b
$�2 �	���'3�= �
� 7

N �-2 �"(�,30��a�>�	��
'�-���
�'�����
�/.'��
'�D,���!.�
W (~p|~p1)

���	�
��� ���P�
� �'�����-�	�����
�'��� 4@,'���-7
$����

f(~p, ~r, t)
�3.'�K<��	��2 ,1�����'���
�10'�������
�^,'
��	�
�'�����'�E�Y�	(#b
$�2 �	���M9 ��c : ���a(������
� ��'��(#���'������/ 2 ���'�	��*�
'��!)�14!4^��
'����$�����(#b
��/ 2 ,'
��	�
�'�����'�-243 9P(�� ��*���
'�SF �������

�'���
�S,���!)��2 �6�-���a�
b�����(�, ~F ���	��
'�������'�����
b .'��
'�D,���!.�
W (~p|~p1)

3
�;�"(#�M0��	���
��$�/ �'���",�� <�(����'�

��10'��������� ���	
���!

q
�1���F���-,K!#�������
�a,32 �6��!)�'� 7


'��!)��/4� .'�����	�-������/4�'<�(����'�

��10'�������
� ~E �\2 �	*����'�
�'�
� ~H .'�	(������	������()�
~F = q ~E +

q

c
[~v × ~H],

* !#�
c
7 ������
'�����
b ���	���a�'3

= /0
��IGF�����'� !�(��K�	��
'�-���
�'�����
�/.'��
'�D,���!.�
W (~p|~p1)

�6.�
'�"!#��(������
� �K
��	����2 �a�I7

������a�-2 �����������	�-2 ���+�\�����"(��"!�,��-2 / 2�.�
'��$'��������243
_ �	�������-/0���a�-2;/0���������	�
����
����	�

(

∂f

∂t

)

.'�	( = −(~v · ∇rf)− ( ~F · ∇pf)



r/q

�6.�
'�"!#��(������1������
'�����
b+����2 ���'������� 4@,'����$���� 
��	�L.�
'�"!#��(��������
f
�1
'����,�(#b-�a�a�	�

�'�S.�
'��
�/0�
�'��*��&!)�
� G ������� 0��	���
��$�/ � 4P�������	��2�.�
'�����

��	�����
�	�����'0�(�������� �������
�����
�	��� �

(

∂f

∂t

)

��� =
∫

{W (~p, ~p1)f(~p1, ~r, t)(1− f(~p, ~r, t))−

−W (~p1, ~p)f(~p, ~r, t)(1− f(~p1, ~r, t))}} d~p1
�6.�
'�"!#��(������ ������
'�����
b ����2 ���'�������

f
� 
'����,�(#b-�a�a�	�:���	�	(#���'���	��������0��	���
��$ 3

? ��* ()�	���'�/.�
�����$��1.�,+!#���a��(#b
�'��*��K
��	�
�'���	��������.�
���
��	�
�'���	��������0����"(��/0��H7
���
��$y� .�
��-,���!���NF�-,��K�������	�-�����'� � ��2B.�,-(#b
����2

~p
���F�������	�-�������D�:��2B.�,�(#b
����2

~p1
��
��	�
�'� 0����"(�,K, ,���!���NF�-,+���P�������	�-���������^��2B.�,�(#b
����2

~p
�J�������	�-�����'�&�^��2 7

.�,�(#b
����2
~p1
�

W (~p, ~p1)f0(~p1, ~r)(1− f0(~p, ~r)) = W (~p1, ~p)f0(~p, ~r)(1− f0(~p1, ~r)).
�^�L.'�	(#ba��,
� ���
��/0�1�
�<! !�(��1
��	�
�'���	�����'��� 4@,'����$����1
��	�L.�
'�"!#��(���������� ��
�2;�?7
9 ��
��	�����

f0(~p, ~r) =
[

e
ε(~p,~r)−µ

kT + 1
]−1

,.'�	(�,30��a�-2
W (~p, ~p1)

W (~p1, ~p)
= exp

(

ε(~p1, ~r)− ε(~p, ~r)
kT

)

.

.@�
�L2 !.� �
�<!)�'� � 0'�	�M.�
��
ε(~p1, ~r) > ε(~p, ~r)

��2 ���-2
W (~p, ~p1) > W (~p1, ~p)

�)��3 ��3

��	�����������'�

~p → ~p1
�J,'�	��(#�10'�����'�-2�<��'��
�*���� 2 ���'�����	��
'�-���
�'� � 0'�-2 �J,�2 ����bI7

F �����'�-2 ��� 3>�+����bKF6��� �	��
'�-���
�'�����
b , ,���!.�
0��	���
��$ ��� �������	�-������� � 2 ��(����
<��'��
�*��'��� � �������	�-������� �\��	�	(#bKF ���
<��'��
�*��'��� ����2B.'��������
�,����
� � ��	�	(#bKF ��� �-,
���	����( � ���'�����
bK2E�10'�	���
�
���L.'�S0������a��� !#���a��(#b
�'�
�:
��	�
�'���	�����'��3
= �	����
������
� � 

!#��*�� �	��()� 0��	���	�K��2 ���-2 !#��(����@,3.�
�,'*���2 
��	�����������'�-2�����3 ��3

ε(~p1, ~r) = ε(~p, ~r)

�
W (~p|~p1) = W0(p, θ)δ(p− p1),

* !#�
δ(p − p1)

,30��'�
/0���a����� 0'�	� .�
�� 
��	������������� �a�����	(>2 �
����� �	��(#�10������ ��2 7
.�,�(#b
���K���S,�
��	�������
� �

p = p1
�
θ
74,'*��	( 2 � G6!�,D���A.�
��	�a(��������#2;�X��2B.�,-(#b
�����

~p�
~p1
3
�+�HG��'� �HG��<!.�a�
b1��0'�	��.�
�� 2 ��(#/8, �
�
��(����'������� , �
� 
��	�
�'���	��������9 ����* !.�

��2 ������2 �����	�+,��"(����
�'� | f − f0 |≤ f0 : �	��
'�-���
�'�����
b�.'��
'�D,���!.� W ��!)���+� �a�
GF�:���	�+� 
��	�
�'���	�����'��2����a�	�����J�'��
��	�
�'���	�����'��2 �������	���#�����+���'�^���	�
�����'�J�
�
�
�'�SFF���-,Q.'�	(�������*�
��-!)�'���'�a�J�	�-2B.'��
��a�a,'
�/&3.= <��	��2 �"(�,30��a�



r��

∂f

∂t
= −(~v · ∇rf)− ( ~F · ∇pf)+

+2π

π
∫

0

{W0(p, θ)(f(~p1, ~r, t)− f(~p, ~r, t))p2sin(θ)dθ.
9 ��� :

���SF �����'� �����'���
�10'��������*��4,'
��	�
�'�������?9 ��� : !�(��P���a�	$��'�����	
��'��*�� �"(�,30����:2 �HGC7�'�?.�
'�"!)���a�	�
�'�
b�� �
�<!#�

f = f0 + f1,* !#�
f0 ≡ f0(ε(p, ~r))

7>
��	�
�'���	����������4@,'����$������`�
f1(~p)

7>�'��
��	�
�'���	���������D!#� 7
���	�
����� .'��!�(�� GJ�AN6��� �6.�
'�"!#��(������12 3 5@�������	(#b
��, ���'�	��*�
���(#/ .'�D�
���-2 �-���H0'�D7
�����#2 ��2B.�,�(#b
�������
�

f
�\�
�

F0
!#�	(1G���/ �����K.��-!.�a�
b1� �

f0
7 0 � �
�����@4@,'����$����

.'� ��2B.�,�(#b
�",�� �	�
f1(~p)

!#�	(1G����X��/4�
b �'�S0 � �
�'���
4@,'����$��'���
~p
3 A^
'��2 �1�	��*�� �

f1(~p)
!#�	(1G�������/4�
b .�
'�6.'��
�$��'������(#b
���?<�(����'�

��10'��������2 ,�.'�	(>2 �\*�
��-!)�'���'�a,

�	�-2B.'��
��a�a,'
�/
�'�a�	�1���	� <��
�1����(#/ .�
����	��!����6� �
�
��(����'�����12 �
�J
��	�
�'���	�����'��*��

��	�L.�
'�"!#��(��������Q0��	���
��$\�

~p
7 .�
'�����

��	�����
�	��3

5@��!)���a�	�a(��'���
/0
��IGF�����'�&!�(��
f
��9 ��� : ��.'�	(�,30���2

(~v · ∇rf) + ( ~F · ∇pf) = −f1(~p)/τ(p),
9 � 	 :

* !#�P�
�	�"!#���'�J�
�
�	�-���H0'�����'���
1

τ(p)
= 2π

π
∫

0

W0(p, θ)[1− f1(~p1)/f1(~p)]p2dθ.

=Y��(#�10������
τ(p)

�'�����'�@�����-���	���'�����������
	�������
�������������� �a��2;/0�"(6���
�	��
'��*��&2 �HGC7
�'� �
/O�������'�
b �"(��"!�,32 NF��2 �
��
�������243 9:�6.�,����
��2���0'�	� �
�
�",��
���
�a,���� �
�'�SFF�'���
.'�	(�� ~F = 0

� �'���6*�
��-!)�'���'�a�:�	�-2B.'��
��a�a,'
�/ ∇rT = 0
3 �;�"(#� �������	�-2 � 0��	���
��$

�
/0�	�"!#�����D���Q.'�	(��HGF������� 
��	�
�'���	������� � �+2 ��2 ���'�a�D�

'�-2 �����
t = 0

.�
'�"!#� 7
���a�	�a(������6���
2 � �����
���<�	� ����* ()�	���'�Q9 ��� : ����� �	,-!#��� .'��
'�D,���!)�'�
bJ�J
��	�
�'���	�����'�
��������	�-�����'�����'��
��	�
�'���	��������� 4@,'����$����

f
�	,�!#���J���

'�-2;�'�
b
� �+�1
��	�
�'���	�����'���

f0.'�J���	������,��
∂f

∂t
+
f(~p, t)− f0(p)

τ(p)
= 0.

���SF �����'�T<��	��*��:,'
��	�
�'������� !.� � �P���	�����K����2 ���'�������K�'��
��	�
�'���	�����'���?4@,'����$����y�
(f − f0) = (f − f0)t=0exp(−t/τ).

.@�
�L2 !.� �"(��"!�,������-0'�	�J�

'�-2 �K
'��()�	�<���	$����
τ
�����K.��-!.�a���F���F�

'�-2 ���'�-2�� .�
�� ��� 7

�	��
'��2 �
�
��(����'�����'�6�'��
��	�
�'���	�����'����4@,'����$����D�
� 
��	�
�'���	�����'����,�2 ����bKF6�a���
� �
�
e

�����3



rZp

_ �	����2 �
��
�������2�� �
�	�"!#�����'�-2	.'�������
��� �

'�-2 ����� 
'��()�	�<���	$���� �'��(#���'�����'�
�
���'�	��*�
'��!)�14!4^��
'����$�����(#b
�'�
�@,'
��	�
�'�����'� 9 ��c : 4^��
�2 ��(#b
�'�6���	��!)�'�
� � � (#���'���-7�'��2 ,�!)�14!4^��
'����$�����(#b
�'��2 ,X,'
��	�
�'�����12 9 � 	 : !�(�� �'��
��	�
�'���	�����'��� 4@,'����$����
��	�L.�
'�"!#��(�������� 3�. !)���	���@�>�
�6N �-2\�"(�,30��a� <��	�^�<�IGJ,3N ����� �:,3.�
'�6N �����'����� !#���-7
���
�
�'�	��(#b
�'�����
� � .�
��	�a,32 0��	���
b�.'��!R�-���	����2 ���'�	��*�
���()�1�I,���!)�'�1�
�
�'�6F �����'�
!)�a, ,1�-���H0'�������\�'�����-�	�����
�'���Q4@,'����$����

f1
3)5@�K<��	��2 ,+���J���
2 ��2 !#��(��&,'
��	�
�'�D7

���'�>������� � ��� ��(#���'������/ 2 ���'�	��*�
'��!)�14!4^��
'����$�����(#b
��/ 2���!#�6.�,������A2 NF��2 ,3.�
'� 7
N ���������&�	��2 �"(�,30��a��������* !.�&�
�
�'�6F �����'�

f1(~p1)/f1(~p)
�'�0���	�
�����'�:���J�
�P�
�1.����

���6�
�&�	��(#�10�����/ �	�	��2 ,3N �����������
/O�-/0���A2 N ��*��^�
�
��(����'�����'� 4@,'����$���� 
��	�L.�
'�D7
!#��(����������
� 
��	�
�'���	�����'��� 3

���(�)	 ������� ���

� ������(#b�2 � 3 �63 .^���'���
/ ���a�a�
�����
�10'��������� 4&���-�����X�D�	��
�2 ��!)�����
2;����� 3�� 3 �
�&��,'�����y�3�����'3 	<c��6�
3
�P�����'�	���
�10�� 3 � 3�= �	�"!#�����'�@�F�	��
�2 ��!)�����
2;����,�3#? �a�a�
�����
�10����������M4&���-�����'3

� 3 � �&��,'�����y�3�����'3 	 �3�J�
3
� ,�2 ��
�� 3��>3 �`�;/0�
����� � 3 P 3�_���
�2 ��!)�����
2;�������`�����a�
�����
��0'���������;4&���-�����

�������'���
�����'3 � 3 � �&��,'�����y�3������3S���
c6�
3
A>,'���F� 3 � 3�? �a�a�
�����
�10'��������� 4&���-���<� �&�	��
�2 ��!)�����
2;�����'3	� 3 ���&��,'�������3�����
3

���	�P�
3
A@��
������ �>,<�	��* 3#? �a�a�
�������10'���������D2 �D,��	�����<�'3.� 3 �)����
y���3�����'3S�
c	d6�
3
A>(#��2 ���'�	���
�10�� 3 ��3#? �a�a�
�������10'��������� 4&���-���<�'3 � 3 � �&��,'�����y�3����c�3 �
d��J�
3
7.,'
'��� A638563 � ���'��2 ���'�	(���*��10'��������� �	��
�2 ��!)�����
2;����� �'���
��
��a�
��2;/8,5.�
'� 7

$'����������3#� 3 � �&��,'�<���y�3�����'3��-c��6�
3
A^���	����������� �63 � 3�_`��
�2 ��!)�����
2;�����0�P�����a�������
�10'��������� 4&���-�����'3�_`����
����P�'��
��	�I7

�'���	������/8,��������	�-2��)� 3 � �>��!17 �	� ��7;�����3������3S�����J�
3



r/~

I � ����#���	 �(��	
��� .P? � .P=��VAP= � �^_ .P= .�� ?O_ � _ �P?O_ � � � ?0A .�� � � � �PA�� 3�3�3�3�3�3��

�
3 = �	�"!#�����'� 3"3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�33�
�^�����
/4�:����2 �SF6�	����/4�:�	�����
2 �	(#� 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3v�
�^
��	�
�'�����'�^!)�
� GF�������+!�(���2 �a�

���$�/5.�(��
�
�'�����
� 3�3�3�3�3�3�3�3�3�3�3�3��

c�3 .^���'���
/ �����	�'�	���	���\���a�a�
�����
�10'����������4&���-�����\
��	�
�'���	������/8,
�������	�-�������13�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3��

������
'�����	�'�����10'�����������	�����
2 �	(#b 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3��
A&�	�'�����10'���������\�	�����
2 �	(#b 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3%���
�Y�	(#bKF ���+���	�'�����10'�����������	�����
2 �	(#b 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3��-c

�'3�� !#�-��(#b
��/4�:�����	�'�	���
/4�:*"���-/ 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3#�-c
������
'�����	�'�����10'�����������	�����
2 �	(#b 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3S�3�
?O�a�'�-bJ�^�
��
�2 ��!)�����
2;������� 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3����
� !#�-��(#b
��/4�P*"���-/&3S�Y�	(#bKF ���+���	�'�����10'�����������	�����
2 �	(#b 3�3�3�3�3�3"c	d

	�3 5^
'�����
���1FF�'�P�������	�-2;/ ���	�
�
��!)��/ ,Q4^��
�2;�-7 0��	���
��$ 3�3�3�3�3�3�3�3�3�3�3�3�3�3 c
c
?O�	�
�
��!)��/0�M<�(����'�

'������/0��*"���:� 2 ���a��(�()�H, 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3ac
c
?O�	�
�
��!)��/0�M<�(����'�

'������/0��*"���:� 2 �	*����'�
�'��2J.'�	(���3
O 4!4^���'�J!#�F7<�
����� 7 ���	� � (#bI4^����� 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�c��
_�����
����+�-� � ��!

”
�
��(#/8,����	
�(#�������

”
3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�� 	

��3 5^
'�����
���1FF�'�P�������	�-2;/ ���	�
�
��!)��/ ,+�
�	���D7 0��	���
��$ 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3V���
� �
�	����/ 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3 	�d
� ���'����/ 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3 	<c
���
�	����/ 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3 	 	
A@���<!#�������	$���� �Y�	���+7 O ���1F �	������� 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3 	#�

�'3 5&�	
��	���a�a�
�����
����� 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3 	#�
����� _ � .P� �&% � �
�PA^_�� � ����� 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3/�	d

�
3 = �	�"!#�����'� 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3V�	d
c�3 = / 0����"(������'�:�����-!)
��a�
�10���/8, 4@(�,'�'�a,<�	$���� .'�K2 ���	��!�,�7 �'�
����� 3�3%�
c

_�����
����\*��	(�,��
��*�� $��	���a�J�'����� 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3����
�:(�,'�'�a,<�	$����@.'���������	�����Q.�
�,-G�������/ ,\�	������� 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3@���

�'3 A^�����-�'�
��
�2 ��!)�����
2;�10'���������+�	����
���� 4@(�,'�'�a,<�	$���� 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3C���



rWs

�>���	(#��
'�����	���������������	�-2 � 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3����
� �
2;����,��a���\�������	�-2 � 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3%���

	�3^� 
'�	,'�'���
�����
�@!)�
� GF�����'� 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3o���
� �	�	������
�
'��(���$��'��������� 4@,'����$���� 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3%���
_�����
'�-2 ��= ���'��
�� 7 �^���10������ 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3o���
�:,'����$����\�
�
��(#����� 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3a�	d

� � ��� O � �Y� � �^_ �N� � � � � � ?0A .�� A�� � �;_ �PA�� 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3 �
c
�
3 _`��
�2 ��!)�����
2;�����J�'���
��
��a�
��2;/8,�.�
'��$'��������� 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3Z�
c

.@�6NF�'�'.'�	(��HG �������\�	��
�2 ��!)�����
2;�����\�'���
��
��a����2 /8,
.�
'��$'��������� 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3W���
�:���'���������+�	��
�2 ��!)�����
2;����� .^�����	*���
�� 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3c���

c�3O3.������
'�������6.��10'�����������	����
����\�'��
��	�
�'���	������/8,Q.�
'��$'��������� 3�3�3�3�3�3�3k���
�^
��	�
�'�����'�F?42 �	(�, ,����
������*���3#5^
�����$��1. !#���a��(#b
�'��*��

��	�
�'���	������� 3P3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3W���
�^
��	�
�'�����'�F� ��������
�� 745>()�	���<� 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3#�
d
�^
��	�
�'�����'�:�����'���
�10'��������*�� ����()�	����� 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3v���
A^���'���
�10'�������
�^,'
��	�
�'�����'� �Y�	(#b
$�2 �	��� 3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3�3����



rZz

��b%_TN�>@F�K/d��=D�UoL�G�RSG�Q6¡;B/>@IVUWN�K/d/G�[

�*)�+�$�,�(�)�+�- ./,%+�,�01./,�0�2�&3./4#+�-�5*0	"%0�4#+ 0J(�./$�(�)�7 5*0	"%0�2�&3./4#(�9J4�0�$�&%,�0�4�0

��>kL�UW?�B/K/Q#X�?%K/Q�Q�>@?�B/K/Q6��l ��l���bcD�?%K/dZU

�fG�F�>@N�_TG�\����Jx qZpWq/~��cr�KWB�~/q�l��op3l r � l

�jKcL�I�G�ATUWN�K�d�I�>@[VUYB/g�p/z3l��op3l¢pWq/q/q�lV��K/Q�R=UYB � q���|Ws%h3� � l
�j>@[VUYB/g�K/]^A@>CB/NVUY\#lV�SAkD	l�I�>@[#l�D	l�z3X ~Ws�l���[#l m�G�_CL	l�D	l�z3X q�l

<�G�QVU�� pWq/q��@?�_/l
	#UW?3UY_

� Q�G�e@G�NVUoD�m�R=UW?3>CB�I�KTL�e@KWB/K/dYD�>@N
Q�>kL�UW?�F�G�K/N�N�KYm�G�_CL�UYB/>kD�g/A@?�G�R KWBTL�>kD�K/R
ijQ�K/AkD�UWd/A@?%K/e@K�e@K/ACbcL�UWQ�ACB/d/>@N�N�K/eTK�b3N�G�d/>@Q�A@G�B/>@BWU

�ozWq/q/q/q�X�ijQ�K/AkD�UWdYD�g�X�bTD	l�¡�K/d/>CB/AC?�UY\#X	�Ts�l

� B/I�>@[VUYBYUWN�K�NVU�Q�G�_TK/e@QVUW]^>fijQ
�#�


